
The First Quadrant

1. A. (2, 7); B. (1, 4); C. (7, 3); D. (4, 3); E. (4, 0)

2. A. (2, 6); B. (4, 8); C. (7, 5); D. (5, 3)

3. 

4. False. When the value of x is the same in different coordinates, this will create a vertical 

line. This is because the coordinate will not move along the horizontal x-axis as each 

coordinate has the same x value. For example, where the x-axis coordinate is 3, the 

coordinates (3, 0) (3, 4) and (3, 6) create a vertical line as shown below. 

5. Various answers, for example:

6. Various answers, for example: 

(2, 5) (2, 3) (4, 1) (6, 3) (6, 5);    (4, 5) (2, 3) (3, 2) (5, 3) (6, 4);    (1, 5) (2, 2) (4, 0) (6, 3) (6, 5);  
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